FgArea: [0 ]
NC11 P3-4
2025-05-31 (Day 63)




00000
o o



60

50

45

VN
35

2000
1500 ~
1000 ~

500 -



1 0IR

——

0.5 A
0.4 -




[ 1 VI vs Du o L N

2200 -
[ ]
2000 o
1800
[ o0
1600 ~
o

1400 ~

o L
1200 @

T T T T T T T T T
2250 2500 2750 3000 3250 3500 3750 4000 4250
DU



. 650 -

. 625 1

. 600 ~

. 975 ~

. 550 -

. 525 ~

. 500 ~

. 475 ~

. 450

FR

48

50

52

54

56

58

60

62




1 setVI

——

170 -
160 -
150 -
140 -
130 -

62

60

58

56

54

52

50

48



1 (fgArea = NA)

—@— ECI*10% R
6000 1 _g ECO
5000
4000

2000




=
o
=
*
- o
I T

a a
o © © < N o

~ © © © © ©

(3] [ee]




Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-4 0
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P3-4

BflE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS B

07:50 273 150.0 25. 83 FA| FiHR@O7:50 KRFIEHF (RALESR)
08:25 273 150.0 25. 83 FH| FhHA@08:25 KANF2F (FRHAEREE)
09:00 273 150.0 25. 83 FH| FiHA@09:00 KENFEF (KAFERE)
09:35 273 150.0 25. 83 FA| HHR@09:35 KRHMIZHF (RALER)
10:20 273 150. 0 25. 83 BR{ FhHA@10:20 RHFMIEHF CRALESR)
11:00 273 150.0 25. 83 BH| FhHAe@11:00 KEF2F (RAEREE)
11:35 273 150.0 25. 83 FA| hHR@11:35 RAMIEHF (CRALESR)
12:10 273 150.0 25. 83 FA| FnHf@12:10 KRFEF CRAERSE)
12:45 273 150.0 25. 83 FR| FhHA@12:45 REIZF (RAEEHS)
13:20 273 150.0 25. 83 M| FiHR@13:20 RAMIEHF (CRALESR)
13:55 273 150.0 25. 83 |  FiHAe13:55 KREEF CRAERSE)
14:30 273 150. 0 25. 83 M| FiHRe14:30 KREEF (AFERHE)
15:10 273 150.0 25. 83 M|  FiHfe15:10 RFEF (KAERKSE)
15:55 273 150.0 25. 83 M| FiHfe15:55 REIEF (REHERRSS)
16:50 273 150.0 25. 83 M| FiHBe16:50 KEFEF (KAERE)
21t] 4095.0 (15)%) 2250. 0 3203 %EC: 2080.0, PH: 6.0

[E;&EC 5503.0 K5, EiNF{KECAE&M%ER
#[EKECE (2087.0 vs 5503.0) 15




FRV (ml plant-1)

ET (ml/hr/plant)

P3-4_0, Day=63 (2025-05-31)

V1, V%RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
1600

251

20

1709

00 00

TargetEC=2600. 0,  TargetSetEC=2080. 0

TargetPH=6. 5, TargetSetPH=6.0

300

200

100 A

|
1
|
1
k o

ByWoFyv @D63 05:05: ET+1703 Fg=2250.0 Ro=459.0

1.0

3000

- 2000

- 1000

21

22

23

0.8 -

BH | BH [ BH [ BA [ BA [ BA | BA | BA | BA | BH | BH | B | BH | ® [’ [ M [ M [ BH | M | M |

A

FA

A

0.6 1

0.4+

0.2~

0.0

800 A

600

400 -

200 -

', "PPFD_obs’] is missing

A A WarRing:

25 -

20 A

15

.~ "To_obs'] is missing

90 4

80 A

70

60

"RHo_obs’] is missing

Warning: lcol ['RH_obs’,

RH

0.2 0.4 0.6 0.8

1.

0

cumET (ml/plant)



hour

:00 -
105 -
210 -

115
:00

110
:00
:45
125
110
)
:05
:20

100

80

- 60

- 40

20

¥ oL ¢

ggngégf %>= N\



P3-4
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m=735, FV0=0

—0—

M_W

T
735

740
m=920,n FV0=0

T
745

——

M_W

T
920

T
925

930




hour
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© 00 N NN O O O

100
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- 60
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- 40
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P3-4

BrE) | GEBAK @) | ERE(EH/AR | EREE (F/R) [ XS SRR

07:15 273 150.0 25. 83 & Bi&e07:15 B3h (RAFEREE)
07:50 273 150.0 25. 83 & B2i1%@07:50 B3h (kBIEREE)
08:25 273 150. 0 25. 83 & ’Ri%@08:25 Bz (kAERESE)
09:00 273 150.0 25.83 & & Bi%@09:00 B3h (FkAFEREE)
09:45 273 150.0 25.83 & & B2i%@09:45 B3h (kBIEREE)
10:25 273 150.0 25.83 (& & B2i%@10:25 Bzh (RAEREE)
11:05 273 150. 0 25.83 & & BRige11:05 Bzh (REERSE)
11:45 273 150.0 25.83 |B = BRige11:45 Bz (GRFAEREEE)
12:25 273 150.0 25.83 & Bige12:25 Bzh (kBEREE)
13:05 273 150. 0 25. 83 5 Ri%e13:05 Bz (RAERESE)
13:40 273 150.0 25. 83 5 Bi18@13:40 B3h (KRBERKSE)
14:10 273 150.0 25. 83 5 Bi%e14:10 Bzh (kPBEREE)
14:40 273 150. 0 25. 83 5 Ri%e14:40 Bzh (GRAERSE)
15:15 273 150.0 25. 83 & BRige15:15 Bz CGRAERSE)
15:55 273 150.0 25. 83 & Big@15:55 Bz (FREERESE)
16:55 273 150.0 25.83 |Z=| #iTHe16:55 B (RAERESE)
2t 4368.0 (16)%) 2400. 0 3 WHKEC: 2080.0, PH: 6.0

[E;&EC 5690.0 K5, EiNF{KECAE&M%ER
#[EKRECE (2323.0 vs 5690.0) 15




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=61 (2025-05-29)

L e e o T e TR e e p L 3000
VI, VP8RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2640
2300 2300 250
100 806 904 2000
50 - 1000
60 80
Warning: lcol [FVI',| "FVO’'] missing
0 -0
200 4 W= Vi — wme P3O
FRV maxM
190 === | Al e e ) N B G e e N | e e S e S ittt R R L o5
(NN
100 HEEEEEEEEEEEREN -
0 ANINEINENENEEN "
1.0
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=6.0 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 | - 4000
Bylnit @D63 05:05: ET%2062 Fg=2700. 0 Ro=555.0 t
400 1 - 3000
- 2000
200 A
- 1000
p—— @ 9
i N Y I — V=N
0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 4000
HHE HEE HEE Hi HHE HEE HEE Hi HHE HEE ES ES == HEE ES ES == E3 ES ES == E3 ES ES
400 B B B G B B B G B B B G B B B G B B B G B B B G
1 - 3000
ByEt @D61 19:09: ET=2189 Fg=2250.0 Ro=nan :
- 2000
200 A
- 1000
p—— E
0 pe—ap . 2000
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
200 iE | B 5 | B 5 | B | BB | B [Z2a|Z2E|Z2=[(Z5] B i 5 |Z=| A [ BB | FR | BA [ BR | A | &=
1 - 3000
ByWoFv @D63 05:05: ETf1904 Fg=2400. 0 Ro=467.0
- 2000
200 A
- 1000
p—— =] 4 @—
10— oo 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
s B BB BB % | BB | BI522213222 B | B | Bl52 W | MW | BB (5=
0.6 -
0.4 1
0.2 A
|
| _obs
PPFD_obs
RH
RH_obs
RHo _obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



19.5 ~

19.0 A

18.5 A

18. 0 A

17.5 A

17.0 A

18.

18.

18.

18.

18.

18.

18.

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

T T T
600 800 1000

m=560,m FV0=0

80 ~

75

70 -

65

60 -

55 1

50 A

—0— ME

-

i
i

=

T T
560 565 570

m=725,m FV0=0

30 A

25 -

20 A

15

10 ~

05 ~

00 -

—o— M_E

ml
o
m

725 730 735

m=889,m FV0=0

40 -

35 -

30 A

25 -

20 -

15

10 ~

-—o— M_E

m
i
<\.>)
i

885 890 895

17.

17.

17.

17.

17.

17.

17.

18.

18.

18.

18.

18.

18.

18.

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

19.

m=450, FV0=0

30

25 A

20 ~

15 1

10 4

05 -

00 -

M_E

T T
450 455 460

m=610,m FV0=0

90

85

80 -

75 A

70 -

65

60 -

—o— ME

T T
610 615 620

m=765,m FV0=0

30

25 ~

20

15 1

10 4

05 A

00 -

—o— ME

765 770 775

m=925,m FV0=0

50

45 -

40 -

35 -

30 -

25 A

20 -

-o— ME

925 930 935

m=490, FV0=0

18. 0 A

17.9

17.8 A

17.7 4

17.6 A

19.

18.

18.

18.

18.

18.

18.

19.

19.

19.

19.

19.

19.

19.

19.
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19.

19.

19.

19.

19.

M_E

T T
490 495 500

m=650,m FV0=0

00 ~

95 ~

90 -

85 ~

80 -

75 1

70

—o— M_E

T T
650 655 660

m=805,m FV0=0

30 A

25 -

20 A

15

10 ~

05 A

00 -

—o— ME

805 810 815

m=965,m FV0=0

60

55 -

50 A

45 -

40 -

35 A

30 -

-o— M_E

965 970 975

18.

18.

18.

18.

18.

18.

18.

19.

19.

19.

19.

19.

18.

18.

19.

19.

19.

19.

19.
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19.
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19.

19.

19.
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45 -

40 -

35 A

30 -

25
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15 1

10 4

05 -

00 -

95 A

90

40 ~

35 -

30

25 A

20 ~

15 1

10 4

60

95 -

50 -

45 A

40 -

m=525, FV0=0

M_E

550 555
m=685,n FV0=0

GéO 655
m=840,n FV0=0

840 845 850

m=1010m FVO=0

-o— ME

1010 1015 1020



52.

51.

51.

50.

52.

52.

51.

51.

50.

52.

51.

51.

50.

50.

49.

52

50 A

48 -

46

44

- MW

T
600

T T
800 1000

m=560,m FV0=0

—— MW

560

5é5 5;0
m=725,n FV0=0

—— MW

725

750 7é5
m=885,n FV0=0

M_W

885

890 895

52.

51.

51.

50.

50.

49.

52.

51.

51.

50.

50.

49.

52.

52.

51.

51.

50.

50.

m=450, FV0=0

48 -

47 -

46 -

45 -

M_Ww

4%5 4é0
m=610,n FV0=0

450

—— MW

i
i

6%5 GéO
m=765,n FV0=0

—— MW

ﬁ

7%0 7%5
m=925,n FV0=0

765

-o— MW

=
7
i

925 930 935

50.

50.

49.

49.

48.

48.

47.

52.

51.

51.

50.

50.

52.

51.

51.

50.

50.

49.

53.

52.

52.

51.

51.

50.

m=490, FV0=0

M_W

495 500
m=650,n FV0=0

T
490

—o— MW

Gé5 GéO
m=805,n FV0=0

—— MW

8%0 8%5
m=965,n FV0=0

-0— MW

970 975

52.

51.

51.

50.

50.

52.

52.

51.

51.

50.

50.

52.

51.

51.

50.

50.

53.

52.

52.

51.

m=525, FV0=0

—— MW

550 5é5
m=685,n FV0=0

—— MW

660 6é5
m=840,n FV0=0

M_W

8&5 8%0
m=1010m FV0=0

840

- MW

1010 1015 1020



hour

:00 - 100

210 -
15 80
:25
%0 - 60
145
:55
- 40
105
:10
20
:10
:15
-0




P3-4

BfiE) | GEBATK (D) | ERE (EA/K) | ERERE (B/R) | XS R

07:15 278 150. 0 25. 83 E BRi&e07:15 Bzl (GRAERESE)
07:50 278 150. 0 25. 83 = {RRi8007:50 Bah (RAEESE)
08:25 278 150.0 25. 83 = {RRiB008:25 B (FRFAEEE)
09:00 278 150. 0 25. 83 E 1BRi&@09:00 Bzl (RAEREE)
09:30 278 150.0 25. 83 5| {Ri%@09:30 B3 (FAMERSE)
10:10 278 150.0 25. 83 =l RRiB010:10 Bz (RFAEEE)
10:45 278 150.0 25. 83 = RRiB010:45 Bz (REAKEE)
11:20 278 150. 0 25. 83 =l RiB011:20 B3 (RAEESE)
11:55 278 150.0 25. 83 =l {Rige11:55 B3 (RAERSE)
12:30 278 150.0 25. 83 Sl {Rige12:30 B3 (RAERSE)
13:05 278 150. 0 25. 83 E| {Rig@13:05 Bzh (RE{ERSE)
13:40 278 150.0 25. 83 F BRige13:40 Bz CGRAERESE)
14:10 278 150.0 25. 83 S| {Rige14:10 B3 (RAERSE)
14:40 278 150. 0 25. 83 E BRige14:40 Bz CGRAERESE)
15:10 278 150.0 25. 83 F[ BRige15:10 Bz CGRAEREE)
15:40 278 150.0 25. 83 | 1RiRe15:40 B (KREERSR)
16:15 278 150. 0 25. 83 E BRige16:15 Bzl (GRAERESE)
16:55 278 150. 0 25. 83 = RRiB016:55 BHah (RAEESE)
24t]5004.0 (18)%) 2700. 0 323 KEC: 2080.0, PH: 5.8

[E;&EC 5590.0 K5, EiNF{KECAE & M%ER
#[EKECZE (2400. 0 vs 5590.0) 15




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=60 (2025-05-28)

L e e o T e TR e e p st L 3000
VI, VPSRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2685
2300 2300 340

100 - 995 983 2000

50 - 1000

60 60
Warning: lcol [FVI',| "FVO’'] missing

200_( s Vi —_— ME
- B R S R — —— L 95
|

1.0 15

150 frmmm e e e e =-—

M_E

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5. 8

Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 : - 4000
Bylnit @63 05:05: ET%2029 Fg=2700. 0 Ro=542.0 t

o L 3000
400 - e—2 ¢
L 2000
200 1 L 1000
p o - e
0 P 2000
6004 0 1 2 3 4 5 6 7 8 9 [ 10 11 [ 12 [ 13 ] 14 15 ] 16 | 17 [ 18 | 19 | 20 | 21 | 22 | 23
BB | B BB | BB B | BB BB B B|B8| BB |B|RB|B|B]| B
] L 3000
400 - ByEt @D60 19:09: ET=2256 Fg=2340.0 Ro=nan 1
, L 2000
1
- 1
200 R I L 1000
1
o —0 o —o—e I I I I I ]\ |
0 pb—a P- PN PN \l\\ 2000
6004 0 1 2 3 4 5 6 7 8 9 [10] 11 |12 13 14 [ 15 16 | 17 [ 18 | 19 | 20 | 21 | 22 | 23
BB | B BB | BB B | BB BB B B|B8| BB |B|RB|B|B]| B
] L 3000
400 - ByWoFv @D63 05:05: ETf1989 Fg=2700. 0 Ro=529.0
: - 2000
1
- 1
200 I L 1000
—o—o—0—o—¢
1.0 -p———ap P- PN =l 0
. 0 1 2 3 4 5 6 7 8 9 [10] 11 [ 121314 15 16 | 17 [ 18 | 19 | 20 | 21 | 22 | 23
ogl B [ B | B [#5 | 5 [ B5 | ”E [ 5 | RE [ 5 | RE [ 5 | RE [ 5 | RE [ 5 | ”E [ 5 | RE [ 65 | RE [ S | A5 [ HS
0.6
0.4
0.2 -

|
| _obs
PPFD_obs

80 A

60

—— RH L
404+ @ RH_obs
[ ) RHo_obs

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



19.5 ~

19.0

18.5

18. 0 A

17.5 A

17.0

18.

18.

18.

18.

18.

18.

18.

19.

19.

19.

18.

18.

18.

18.

19.

19.

19.

19.

19.
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19.

660 860
m=580,n FV0=0

1000

60
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50 -

45 -

40 -

35 A

30 A

—0— ME

T T
580 585 590

m=720,m FV0=0

10

05 -
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95

90 -

85 ~

80 -

—o— M_E

i
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720 725 730

m=860,m FV0=0

60

55 -

50 A

45 -

40 -

35 A

30 -

-—o— M_E

e
L‘\.\}
&)

860 865 870

m=465, FV0=0
1734 o wE
17.2 -
17.1 -
17.0 -
16.9 -
T T T
465 470 475
m=610,m FV0=0
18.801 o
18.75 -
18. 70 -
18. 65 -
18. 60 -
18. 55 -
18. 50 -
T T T
610 615 620
m=760,m FV0=0
1924 o  uE
19.1 -
19.0 -
18.9 -
18. 8 -
760 765 770
m=895,m FV0=0
19.701 o 4
19. 65 -
19. 60 -
19. 55 -
19. 50 -
19. 45 -
19. 40 -
895 900 905
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17.
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m=935,m FV0=0
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-o— M_E

935 940 945

m=540, FV0=0
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GéO 6é5
m=830,n FV0=0

19.5 A

19.4 4
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19. 2 ~

19.1 4

19.
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19.

19.

Bé5 8&0
m=975,n FV0=0

830

70 A

65

60 -

95 A

50 -

-o— ME

975 980 985
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51.

51.

50.

50.

52.

52.
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51.

50.

50.
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m=465, FV0=0

49 1
—o— MW
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47 -
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46 1 —-— MW
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5 -
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T T T T T T
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5 -
—o— MW | 520 —— MW
0 -
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%] 51.0 -
01 50.5 -
5 4 50. 0 -
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720 725 730 760 765 770
m=860,m FV0=0 m=895,m FV0=0
5 4 = MW 5 5. — MWW
0 - 52.0 A
5 4 51.5 -
0 _ 51 . 0 T
5 50.5 -

860 865 870

895 900 905
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o -
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o -
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m=795,m FV0=0

—o— MW

i

860 865
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P3-4

BfiE) | GEBATK (D) | ERE (EA/K) | ERERE (B/R) | XS R

06:30 278 150.0 25.83 (Z=| {Ri%@06:30 Bz (FRAMERHSE)
07:05 278 150.0 25.83 |Z=| {Ri&e07:05 Bz (REAEZEHSE)
07:45 278 150.0 25.83 (£ =| 1Rig@07:45 Bz (RAEHSE)
08:50 278 150. 0 25. 83 E  1BRi&e08:50 Bzl (RAERE)
09:35 278 150.0 25.83 |Z=| {Ri&@09:35 Bz (REEHSE)
10:15 278 150.0 25.83 (£ =| 1Ri%@10:15 Bz (RAERSE)
10:50 278 150.0 25.83 (Z=| {Ri%@10:50 Bz (KRAERSE)
11:25 278 150. 0 25.83 |Z=| {Bige11:25 B (REEZERE)
12:00 278 150.0 25.83 (£ =| 1Rig@12:00 B3 (RAEDSE)
12:35 278 150.0 25.83 (£ =| 1Rige12:35 Bz (REAERSE)
13:10 278 150.0 25. 83 FA| {Ri%@13:10 Bz (GRAEEE)
13:45 278 150.0 25.83 FA| 1BRi%@13:45 B3h (KRAHERSE)
14:15 278 150. 0 25. 83 FR| 1BRi%@14:15 Bzh (kAEREE)
14:45 278 150.0 25. 83 FA| 1BRi%@14:45 Bzh (RABERE)
15:15 278 150.0 25.83 |Z=| 1BRige15:15 Bzh (CGRAEEE)
15:45 278 150.0 25.83 (£ =| {Rig@15:45 Bz (REAERSE)
16:20 278 150.0 25.83 (Z=| {Ri%@16:20 Bz (KRAEHSE)
17:15 278 150. 0 25.83 (£ =| 1Rige17:15 Bz (RAEDSE)
24t]5004.0 (18)%) 2700. 0 32 KEC: 2080.0, PH: 5.7

[E;&EC 5373.0 K5, EiNF{KECAE & M%ER
#H[EKECE (2393.0 vs 5373.0) 15




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-4_0, Day=59 (2025-05-27)

L e e o e e e e o e o B roet L 3000
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2685
2300 3 918
100 + 1790 - 2000
1500 512
50 - 1000
60
08 Warning: lcol [FVI',| "FVO’'] missing
0 + -0
200_( . v — ME 2 30
FRV maxM
L2 et et ettt e — | S St St Suis e et Snd Smd S S| s B i S m——— A ——————— L o5
(NN
50 4 | . i[iliiﬂjijijiiiiijiii--1 - 20
1.0
n
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.7 N
0.6 -
0.4 4
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
. 4000
200 Bylnit @63 05:06: ET%2143 Fg=2850. 0 Ro=588.0
- 3000
200 1 L 2000
100 - - 1000
O—t;’ — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 | 4000
300 2n|lZzs| B | B | B | B | B| B | B[ B i 5 5 5 5 | BB | BB 5 | BB | BB 5 5 i 5
1
_ _ _ - 3000
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